DIVISION AND MULTIPLYING BY 10s (H - seT 1)
DIVISION BY 1000

Name:

Time:

Score:

066000 + 1000 =

2 510000 = 1000 =

43100000 == 1000 =

49599000 = 1000 =

w5 76000 + 1000 =

w6 129000 <+ 1000 =

un - 827000 =+ 1000 =

45699000 + 1000 =

wo277000 <+ 1000 =

50586000 + 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 1

24
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460)

425000 + 1000 =

579000 =+ 1000 =

743000 <+ 1000 =

199000 = 1000 =

193000 =+ 1000 =

930000 - 1000 =

901000 = 1000 =

942000 -+ 1000 =

927000 = 1000 =

414000 + 1000 =
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